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ẋ = A(t)x+B(t)u, y = C∗(t)x, (t, x, u, y) ∈ R× Rn × Rm × Rk, (1)

8�� 0���#( �� 3� �4## A(·), B(·), C(·) ��'�( �  �;����% � # �8�� #(� �  � R. �1�2 �,
(#0 (���2 X(t, s) 0���#4� ���# '���%��'�%�-?�� �� ���� �� '#'��0� ẋ = A(t)x. S�'�&
�;��%$� #� % '#'��0� A9B '���#�'. ;� ;�# 4#;� $# �� ��  �;�$ �� �1��� �� '%.2# % %#��
u = U(t)y, 8�� U : R → Mm,k ~ �8�� #(�  �. ��'�( �  �;����% �. 3� �4#.� �#'��0� A9B
;������� % 2�0� ���- '#'��0�

ẋ = (A(t) +B(t)U(t)C∗(t))x. (2)

� ��1��� �9� 1�$� %%��� � '%��'�%� '�8$�'�%�  �'�# �$. '#'��0� A9B� �#'��0� A9B  �2�,
%���'. LBC>GLBOGRRB] RG [t0, t0 + ϑ], �'$# '�?�'�%��� l > 0 �����! (�� �$. %'.��� G ∈ Mn

 �����'. ��'�( �  �;����% �� �;��%$� #� U : [t0, t0 + ϑ] → Mm,k �����! (�� ���� #� 0��,
�#( �� 2���(# ���# Ż = A(t)Z + B(t)U(t)C∗(t)X(t, t0), Z(t0) = 0 ���%$��%��.�� �'$�%#-
Z(t0 + ϑ) = G, ;�# ���0 |U(t)| � l|G|, t ∈ [t0, t0 + ϑ]. �%��'�%� '�8$�'�%�  �'�# '#'��0� A9B
.%$.��'. �1�1?� #�0 ;� .�#. ;�$ �� �;��%$.�0�'�# �$. '#'��0� '  �1$-����$�0� �'$#
C(t) ≡ I, �� �� �1��� �. '%.2& ;�$ �.� u = U(t)x, �� '�8$�'�%�  �'�& '#'��0� A9B ��%#%�,
$� � � ;�$ �� �;��%$.�0�'�# '#'��0� A9B� �� �' �%� '%��'�%� '�8$�'�%�  �'�# % ��1���<
���� �� ��%�! ���� S�;�%��! ���� ������%� 1�$ ;�$�(� �.� ��2�$&����% � $���$& ��
�;��%$.�0�'�# ;���2���$�� �.;� �%� '#'��0� A5B! $���$& �� ��'�#/#0�'�# # $���$& ��
$.;� �%'��� ;�#%��#0�'�# '#'��0� A5B A'0� �12�� ��2�$&����% % ��1��� �5�B�
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ẋ = Ax+Bu, y = C∗x, (x, u, y) ∈ Rn × Rm × Rk. (3)

S�'�& 0���#4� �1��� �� '%.2# % '#'��0� AtB ���/� '��4#� �� �� u = Ux. ����%��'�%�-?�.
2�0� ���. '#'��0� #0��� %#�

ẋ = (A+BUC∗)x. (4)


'#0;���#(�'��� ;�%��� #� '#'��0� A)B <�������#2���'. ';�����0 '�1'�%�  �< 2 �(� #�
0���#4� A+BUC∗. ��''0���#0 2���(� �  �2 �(� ## ';����� % '#'��0� A)B� ����0 8�%��#�&!
(�� JGPGVG B RGJRGVERII LDEKHFG O LILHETE �0� FGJFEXITG� �'$# �$. $-1�8� 0 �8�($� �
n,� '��;� # p(λ) = λn + γ1λ

n−1 + . . . + γn ' %�?�'�%�  �0# ���33#4#� ��0# γi  �����,
'. ;�'��.  �� 0���#( �� �;��%$� #� U ∈ Mm,k �����! (�� <�������#'�#(�'�#� 0 �8�($� 
χ(A+BUC∗;λ) 0���#4� '#'��0� A)B ' ��#0 �;��%$� #�0 '�%;����� ' 2���  �0 0 �8�($�,
 �0 p(λ). 	2%�'� �! (�� % '$�(�� ��8�� C = I, 2���(� �  �2 �(� ## ';�����0 ��2���#0�
��8�� # ��$&�� ��8��! ��8�� ;��� (A,B) %;�$ � �;��%$.�0�! (�� % '%�- �(����& ��%#%�,
$� � � '�8$�'�%�  �'�# '#'��0� AtB� 	2%�'� � ���/�! (�� �'$�%#� ;�$ �� �;��%$.�0�'�#
;��� (A,B) # ;�$ ��  �1$-���0�'�# ;��� (A,C∗) .%$.-�'.  ��1<��#0�0# �'$�%#.0# ��2,
���#0�'�# 2���(# �  �2 �(� ## ';����� % '#'��0� A)B! � ���/�  ��1<��#0�0# �'$�%#.0#
'�8$�'�%�  �'�# '#'��0� AtB� ���� �� ��%�0 1�$ ;�'��%$� %�;��'! 1���� $# '%��'�%� '�8$�,
'�%�  �'�# '#'��0� AtB ��%#%�$� � � ��2���#0�'�# 2���(# �  �2 �(� ## ';����� % '#'��0�
A)B� � ��1��� �t� 1�$� ;���2� �! (�� % �1?�0 '$�(�� �$. ;��#2%�$& �< 0���#4 A, B, C  #
�� � #2 ��#< '%��'�%  � '$����� #2 ���8�8�� � ��  �� ��1��� �'�� �%$� � �'$�%#.! ;�#
������< ��# '%��'�%� 1���� ��%#%�$� � � 0�/�� '�1��! # 1���� ��%#%�$� � � ;��'��0� #
�33���#% �0� �'$�%#-  � ���33#4#� �� '#'��0��
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A =

∥∥∥∥∥∥∥∥∥∥
a11 a12 0 . . . 0
a21 a22 a23 . . . 0
. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
an−1,1 an−1,2 . . . . . . . . an−1,n

an1 an2 . . . . . . . . ann

∥∥∥∥∥∥∥∥∥∥
, B =

∥∥∥∥∥∥∥∥∥∥∥∥∥∥

0 . . . 0
   

   

0 . . . 0
bp1 . . . bpm
   

   

bn1 . . . bnm

∥∥∥∥∥∥∥∥∥∥∥∥∥∥
, C =

∥∥∥∥∥∥∥∥∥∥∥∥∥∥

c11 . . . c1k
   

   

cp1 . . . cpk
0 . . . 0
   

   

0 . . . 0

∥∥∥∥∥∥∥∥∥∥∥∥∥∥
,

ai,i+1 �= 0, i = 1, n − 1; aij = 0, j > i + 1; p ∈ {1, . . . , n}. bBCPG L>EPM@NIE MHOEF^PERI?
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